£6 HRASILEEHRERENR

(BAAT: 5/ 'm0)

X5 4 R 5 A 6 A 7 A

X <14 ~3.4 ~54 ~10.4 ~20.4 2055 &5 =34 =10.4| 1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &F <=3.4 =<10.4[ 1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &5 <=3.4 =<10.4[ 1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 & =3.4 =10.4
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

B [ ss 12 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 97.7 1.3 1.0 1000  99.0 100.0
M | o2 32 2.6 1000  97.4 100.0 | 100.0 1000 100.0 100.0 | 97.0 3.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0
o[98 11 04 04 03 1000 989 99.7| 96.1 2.8 0.8 0.3 1000 98.9 100.0| 97.9 1.7 0.4 1000 99.6 100.0| 98.4 1.6 1000 100.0 100.0
% & | 914 2.6 1000 97.4 97.4 [100.0 1000 100.0 100.0 | 93.4 5.5 1.0 1000  99.0 100.0 | 100.0 1000 100.0 100.0
¥ W |100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0
i B | oss 1.2 1000 98.8 100.0 | 985 1.4 0.1 1000 99.9 100.0| 955 44 0.0 0.0 1000 99.9 100.0| 99.9 0.0 0.0 1000 100.0 100.0
BB & | 976 24 1000 100.0 100.0 | 98.7 1.3 1000 100.0 100.0 |100.0 0.0 1000 100.0 100.0 | 98.9 1.1 1000 100.0 100.0
A& |[1000 1000 100.0 100.0 | 100.0 1000 100.0 100.0| 96.1 3.0 0.9 1000  99.1 100.0 |100.0 0.0 1000 100.0 100.0
+ B [ 993 05 00 01 1000 99.9 100.0| 98.9 1.0 0.1 1000 99.9 100.0| 98.7 09 01 03 0.1 1000 995 99.9] 99.2 0.8 1000 100.0 100.0
#l B | 978 18 0.3 1000 99.7 100.0| 985 1.3 0.2 1000 99.8 100.0| 97.6 1.5 04 06 1000 99.1 99.4| 968 1.7 1.0 05 1000 98.5 100.0
BE [83 13 02 02 1000 99.6 100.0| 99.2 06 01 01 0.1 1000 99.7 99.9] 99.1 06 02 0.1 1000 99.7 100.0| 99.0 0.7 0.1 0.2 1000  99.7 100.0
#BE |82 15 03 ol 1000 99.6 100.0 | 98.7 1.2 0.1 1000 99.9 100.0| 98.7 1.0 0.1 0.2 1000 99.7 100.0| 97.7 1.8 01 02 0.1 1000 99.5 99.9
R A |95 03 03 1000 99.7 100.0 | 100.0 1000 100.0 100.0 | 99.5 0.5 1000 100.0 100.0 | 995 0.3 0.3 1000  99.7 100.0
2 g |96 07 07 1000 99.3 100.0| 99.3 0.0 0.7 1000 99.3 100.0| 99.2 0.8 1000 100.0 100.0 | 96.2 25 1.3 1000 98.7 100.0
SEty 986 10 01 02 00 1000 996 1000 989 09 01 01 00 1000 998 1000 986 10 01 02 01 1000 996 999| 985 11 02 02 00 1000 996 1000
26FEEEEH] 99.0 06 0.2 0.1 0.0 1000 99.7 100.0| 99.0 0.7 0.0 0.1 0.0 1000 99.8 100.0| 985 L1 02 0.1 00 00 1000 99.6 99.9| 983 12 02 02 0.0 1000 99.6 100.0
OSERETEH] 986 1.1 01 0.1 0.0 1000 99.8 100.0| 987 1.0 02 0.1 0.1 00 1000 99.6 99.9]| 988 1.0 0.1 0.1 0.0 1000 99.8 1000| 984 1.3 01 01 0.0 0.0 1000 99.7 99.9

X5 8AH 9 A 10 A 11 A

Hh X <14 ~34 ~54 ~104 ~204 2055 &F <34 =<104| <14 ~34 ~54 ~104 ~204 2055 AF <34 =104| <14 ~34 ~54 ~104 ~204 2055 &FH =34 =104| <14 ~34 ~54 ~104 ~204 2055 &F <34 =104
% % % % % % % % %] % % % % % % % % %] % % % % % % % % %] % % % % % % % % %

B R |5 14 1.1 1000 98.9 98.9 |100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0
% 41 |100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 97.6 2.4 1000 100.0 100.0 | 96.5 3.5 1000 100.0 100.0
£y [ 983 08 04 04 1000 99.2 100.0 | 96.8 2.8 0.4 1000 99.6 99.6| 98.8 0.8 0.4 1000 99.6 100.0 | 99.7 00 03 1000  99.7 100.0
#% & |1000 1000 100.0 100.0 [100.0 1000 100.0 100.0 [100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0
¥ W |100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0
#E B [ w2 o8 1000 100.0 100.0 | 98.8 1.2 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 98.8 1.2 1000 100.0 100.0
BB #& |100.0 1000 100.0 100.0 | 100.0 1000 100.0 100.0 | 98.6 1.4 1000 98.6 100.0 | 98.6 1.4 1000 98.6 100.0
A& |[1000 1000 100.0 100.0 | 99.2 0.8 1000 99.2 99.2 [100.0 1000 100.0 100.0 | 97.5 2.5 1000 97.5 100.0
+ B 987 08 03 01 01 1000 995 99.9]| 986 11 02 0.1 1000 99.6 100.0| 99.3 05 0.1 0.1 1000 99.8 100.0| 995 0.2 0.2 1000  99.8 100.0
gl B [ 983 14 01 01 1000 99.7 100.0| 99.2 0.4 0.3 0.1 1000 99.6 99.9| 986 0.7 03 03 0.1 1000 99.4 99.9| 986 1.3 0.1 1000  99.9 100.0
BME [84 13 01 01 o1 1000 99.7 99.9| 989 1.0 01 0.1 1000 99.8 100.0| 99.3 05 02 0.1 1000 99.8 100.0| 98.9 1.1 1000 100.0 100.0
#BE | 975 23 o1 ol 1000 99.8 100.0| 98.8 0.6 0.3 0.2 1000 99.4 100.0| 98.7 1.2 0.1 0.0 1000 99.9 100.0 | 98.6 1.4 1000 100.0 100.0
RA | s 0.2 1000  99.8 100.0 | 100.0 1000 100.0 100.0 | 995 0.3 0.2 1000 99.8 100.0| 995 0.3 0.2 1000  99.8 100.0
2 g |94 29 07 1000 99.3 100.0 | 97.7 2.3 1000 100.0 100.0 | 98.1 0.5 1.4 1000 98.6 100.0| 983 11 05 1000  99.5 100.0
SEty |95 12 02 01 00 1000 997 1000| 988 09 02 01 00 00 1000 997 1000| 991 06 01 01 00 1000 997 1000| 990 08 02 00 1000 998 1000
264FEEETEH] 983 1.2 0.2 0.2 0.0 0.0 1000 99.6 100.0| 98.7 1.0 02 0.1 0.0 1000 99.7 100.0| 986 LI 02 0.1 0.0 1000 99.7 100.0| 98.7 11 0.1 0.1 1000  99.8 100.0
OERETEH] 985 1.1 0.2 0.2 0.0 1000 99.7 100.0| 989 0.7 02 01 0.1 1000 99.6 99.9]| 985 1.2 02 0.1 1000 99.7 100.0| 99.0 0.9 0.0 0.1 1000  99.9 100.0




(HA7: 5/ mb)

X5 12 A 1 A 2 A 3 A
X <14 ~34 ~54 ~104 ~204 205= &F =34 =104| =14 ~34 ~54 ~104 ~204 205= AFt =34 =104| =14 ~34 ~54 ~104 ~204 2055 &Hi =34 =104| =14 ~34 ~54 ~104 ~204 205= AFt =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B ¥ 96.7 3.3 100.0 100.0 100.0| 97.5 1.4 1.0 100.0  99.0 100.0 | 100.0 100.0 100.0 100.0 | 96.7 1.0 1.4 09 1000  96.7 99.1
72 &1 |100.0 100.0 100.0 100.0| 953 2.3 2.5 100.0  97.5 100.0 |100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
£l 97.2 2.4 0.4 1000 99.6 100.0| 97.2 2.5 0.4 1000 99.6 100.0| 97.8 1.8 0.4 1000 99.6 100.0| 98.2 1.8 100.0 100.0 100.0
#® = |100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
#% W ]100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
E B 98.1 1.9 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 96.4 2.4 1.2 1000 98.8 100.0| 98.7 1.3 100.0 100.0 100.0
BB iR 98.7 1.3 100.0 100.0 100.0| 98.2 1.8 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
B & 98.8 1.2 100.0 100.0 100.0 | 99.1 0.9 100.0 100.0 100.0 | 99.3 0.7 100.0 100.0 100.0| 98.1 1.9 100.0 100.0 100.0
+ B 98.6 1.I 0.1 0.1 1000 99.7 100.0| 99.0 0.8 0.2 0.1 1000 99.7 100.0| 98.9 0.7 0.2 0.2 1000 99.6 100.0| 98.9 1.0 0.1 100.0  99.9 100.0
#l B8 98.6 0.9 02 0.1 0.1 1000 99.5 99.9| 98.6 0.6 0.2 0.6 1000 99.1 100.0| 98.8 1.1 0.1 1000 99.9 100.0| 99.1 0.7 0.2 100.0  99.8 100.0
R OE 99.1 0.7 0.1 0.1 1000 99.8 100.0| 98.6 1.0 0.2 0.1 1000 99.7 100.0| 98.6 1.0 0.2 0.2 1000 99.6 100.0| 98.9 0.9 0.1 0.1 100.0  99.8 100.0
M E 99.1 0.7 0.2 1000 99.8 100.0| 98.5 1.4 0.1 1000 99.9 100.0| 99.4 0.6 0.0 100.0 100.0 100.0 | 98.8 1.1 0.1 100.0  99.9 100.0
= B 99.1 0.9 100.0 100.0 100.0 | 99.7 0.3 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0| 99.3 0.5 0.3 100.0  99.7 100.0
2 97.3 2.0 0.7 1000  99.3 100.0| 99.3 0.7 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0| 97.8 2.2 0.0 100.0 100.0 100.0
E 1y 987 10 01 01 00 1000 998 1000| 988 09 02 02 1000 997 1000| 990 08 01 0. 1000 997 1000]| 989 09 01 01 00 100.0 99.8 100.0
264EEH 986 1.1 0.1 0.1 0.0 1000 99.7 100.0| 98.4 1.3 02 0.2 0.0 1000 99.7 100.0| 98.7 1.1 0.1 0.1 0.0 1000 99.8 100.0| 98.5 1.2 0.2 0.1 100.0  99.8 100.0
254EPESEH] 989 09 0.1 0.1 0.0 1000 99.8 100.0| 98.8 1.0 0.1 0.1 1000 99.8 100.0| 99.1 0.7 0.1 0.1 1000 99.8 100.0| 98.4 1.2 0.1 0.3 100.0  99.6 100.0
X5 * ¥(48~3A8) $ ERIEERBERURLL)
Hh[X <14 ~34 ~54 ~104 ~204 2055 & =34 =104 =14 =34
% % % % % % % % %
Pl s 98.7 0.7 0.2 02 02 1000 99.4 99.8 98.0 (0.7 99.5 (-0.1)
= A 984 1.2 02 0.2 1000 99.6 100.0 98.1 (0.3) 99.4 (0.2)
£l 97.8 1.7 02 02 0.1 1000 99.5 99.9 97.9 (-0.1) 99.4 (0.2)
#® & 99.2 0.5 0.1 02 1000 99.7 99.8 99.1 (0.1) 100.0 (-0.3)
#% W ]100.0 100.0 100.0 100.0 98.8 (1.2) 100.0 (0.0)
E B 985 1.2 0.0 0.2 100.0 99.8 100.0 99.0 (-0.5) 99.7 (0.0)
B & 99.1 0.7 0.2 100.0  99.8 100.0 98.7 (0.4) 99.7 (0.1)
== 99.0 0.6 0.3 0.1 1000 99.7 99.9 99.6 (-0.6) 99.9 (-0.3)
+ B 99.0 0.8 0.1 0.1 0.0 100.0 99.7 100.0 98.9 (0.1) 99.7 (0.0)
#l B8 984 1.1 02 02 01 0.0 1000 99.5 99.9 97.6 (0.7 99.5 (0.0)
B E 989 09 01 01 00 1000 99.7 100.0 98.7 (0.1 99.7 (0.0)
M E 986 1.2 0.1 0.1 0.0 100.0 99.8 100.0 98.6 (0.0) 99.6 (0.1)
= B 99.6 0.3 0.1 1000  99.9 100.0 99.6 (0.0) 100.0 (-0.1)
2] 98.2 1.3 0.3 0.2 100.0 99.5 100.0 97.9 (0.3) 99.5 (0.0)
E 1y 988 09 01 01 00 00 1000 99.7 1000 98.6 (02) 99.7 (0.0)
264FEEEEH) 986 1.1 0.2 0.1 0.0 0.0 1000 99.7 100.0
254EEEEH) 987 1.0 0.1 0.1 0.0 0.0 1000 99.7 100.0




	表6

